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P (2)
PART I/ 41T I

CHILD DEVELOPMENT AND PEDAGOGY / 1c1 faera 9 e

Directions : Answer the [ollowing questions by | fF&%r : fA=fafas yvar FIWaT & fore wag 3feF

selecting the most appropriute optivn. o rTats gﬁg |
1.  “Socialization” means p ‘AT W YT ©
(1) following the social norms strictly (1) wifs® WHAEEl &1 FeR ®7 W e
Exeil

(2) adjusting in society

(2) WA ¥ garfead @
(3) WHIE AAdel & fovg fagie &
(4) s fafauar F1 gage

(3) revolting against sociul norms

(4) understanding social diversity

2, “Thoughl not only determines language, but

also precedes it” was an idea put forward by |2. “forar 7 Feel v H1 feifd W R afes s

‘ P At ggd § 17 W fRER 3 @
(1) Jean Piaget
| .
(2) Kohlber
= (1) o st
(3) Vypgotsk "
SRR (2) ST
(4) Pavlov =
) (3) HTEIICH
3. Which of the following statements is correct (4) el
in relation to ‘concept formation’ by a child ? _ L
, 3. d= R WEewA-fEiT & H@6Y § frafafan
(1) Concepts are emotionally ordered #§ I S T ? ’

2) Th i t t f epl : § o g
(2} ere is a set pattern of concep 1 Wmmﬁmﬁ?ﬁg

development
(2) Thoga-fawy & wh fRfvwd @@=
SE (Pattern) &l &
(3) Yeweqrsl @l Wl WRIHEE A B
4, Which of the following statements ig most (4) HewaAlt Tafes T8 2

appropriate in relation to adolescence ?

(1) Increase in the incidence of emotional |4. FI & goof f fmfafEd § 8 shH-wr s

(3) Concepts are not hierarchical in nature

(4) Concepts are not individual

upheavals . waifew 3fad & ?
(2) Carefree nature towards studi.eu (1) HdMeHs Hedd &t 9241 9¢ 9 7
(3) Thinking starts reflecting in concrete (2) TEE & 9 wwER @

actions _ | _ (@ T oW gd fEmell § weffm @
(4) gzl;::etn tn'n;:m?,-.:ta,e Im the Intelligence @ T § SR o




7.

(3)

Main characteristic of the ‘emotionally

motivated childrer’ is their

(1) over reactive nature

(2) introvert nature

(3) balanced way of presenting their
viewpoint

(4) melanchuiic demeancur

An  important characleristic of ‘“formal

operational stage of mental development’ is

(1) Abstract thinking
(2) Concrete thinking
(3) Social thinking

(4} Egocentric behaviour

Principle of reinforcement is associated with

(1) Pavlov

(2) Thorndike

(3) Kohlberg

(4) Skinner

The most important factor in the effective
teaching process is

(1) punctuality exhibited by teacher and
students

(2) mastery of the conteni by the teacher
(3) teacher — student dialogue

(4) timely completion of the syllabi

5,

&

P

WA ® W ST o A g
g

(1 mmﬁmﬁuﬁ

2) I Aafd @E

(3) ¥W fER e A W T HhE
e

(4) 39 fauemE =Eer

wfeE fawm & oflvafie w@hirarers sy
# e st @

(0 3 faem

(2) o faaa

(3) umfSE fada

(4) TH-Hfza =R

yHEeE & gl ® gt §
(1) Yaaid

(2) dHHeEs

(3) hlgeeni

(4) f&E

" yurelt forro-fear § @l wewqel ans 8

(1) foww wd el g weffm g =)
gt

2 T gw o woeifisr
(3) foeres - faendl dare
(4) WEEHA F §HE W gl g




10.

11.

12,

13.

(4)

The best way to inculcate moral values in
children is

(1) to give moral lectures in the morning

assembly

(2) put across a situation and ask students

to take a decision

demonstration of moral wvalues by
teachers and elders

(3)

teaching students to differentiate
between moral and immoral

Which of the following factors is a basis for
the ‘child-centered education’ ?

(1)
(2)
(3)

Individual differences
Child rights

The Right of Children to Free and

Compulsory Education Act, 2009
{4) All children are equal in all respects

Which of the following is least important in
the process of thinking ?

(1) Reasoning

(2) Problem

(3} . Generalizations

(4} Memory

The major responsibility of a teacher is to

(1) prepare lesson plans and teach
accordingly

(2) organize as many activities as possible

(3) maintain strict discipline

(4) provide learning opportunities as per

the different learning styles of students

Which of the following is most important in
the process of learning ?

(1)
(2)
(3)
(4)

Heredity of child
Style of learning
Examination-result of the children

Economic condition of the child

9.

10.

11.

12.

13.

aedl § Afos gt W fasfod & F1 wElus
3faa @l 2

(1) émmm W ogw § = @ e IRW
frafiai & W us Rl @@ il
I @ foofg &7 & foq &e

faerdl wd =i g s g @ sRiE

(2)
(3)

FA
faenfidi &1 Afasar ot spifasar & &9
¥ A FFEE

(4)

ara-ifea foer ¥ fou frefefas § @ s9-w
FAH YR § 7

(1) dafes W

(2) 99 AfTER

3) F=d & s ok wfed fmnow
sfymr #faHE9, 2009

(4) T T off dedf ¥ wum A €

frafafas 4 ¥ s=-w fam @ frar § =9
F4
(1)
(2)
(3)
4)

.
Ao
o=
HHTELOT

i
foers &1 w8 ge el 8

(1) US-ARAT TR FA IR IWS IFEN
T

(2) TATERS GRSl # STENH HE

(8) TR FUEA I T&

4) fofdl & fafim sfom Afed &

AR EEA % A I FHA

gt & ufear § fefafes § 9 $9-9 999
S EE € 7

(1) T & RS

(2) drEa # el

(3) a=i 1 uder-gfionm

(4) == W onfge feufa



14.

15.

16.

17,

(5
The most appropriate way of explaining the
topic “Purification of water” is by
(1) demonstrating the process with the

help of a chart

(2)  asking the students to make a model of
the purification plant

(3) taking students {o the plant where the
water is purified

(4) reading from the text-book

The most appropriate logical predicate for
the Continuous and
Evaluation should be

(1) assessing more than one aspect of

learning

(2) maximizing the assessment
opportunities

(3) promoting the holistic nature of human
personality

(4) increasing the burden on teachers

A teacher uses a dice labelled Deseribe,

Predict, Explain, Summarize, Deconstruct

and Evaluate. Each time afier a Lopic is

completed, the teacher throws the dice and

asks students to answer a question based on

the location of the dice. The teacher is

(1)  conducting formative assessment

(2) provoking thoughts of students

(3) diversifying the thought process of the
students

(4) finishing her/his lesson in a style

Which characteristic of a teacher is least

important in inclusive education ?
(1)  Sensitivity towards children
(2) Patience and affection for students

(3) Knowledge regarding disabilities of

students

(4) Socic-economic status of teacher

]

14.

Comprehensive |15.

16.

117,

]'_‘l
HA-fE” T S WE S W gy 2fr
Gricafk
) W RN weEa d wF § vl e

@ fafd i yfewm @i @ wed w0
& fo e

3 foofd # v @iz w S wm oW
B R P T

(4) TIE-GEH ¥ TS

Had AR SAGFE (e F fau afes sy 2
() e F vw F s wi w0 snwem
(2) hed & gl a1 Sy
(3) "H9 =AfHe & 9% 3gfa

@) fml w g =

U YR U qrE TR @ @ e W vl
Hfawawd, @y, e, e sk g
SR € | WO S g W uRn G §
3R U ) feafd w s we & 3 2 &
fera foenfi@i 4@ @rd & ) foers

(1) TUHE THET B §

@ frfiEat & faaw & Sefed s @ §
3) faaffdi &t faa sfFn o fafeedeo o

® &
(4) 0 @ et F s S ogwa W@

wad Rmn A fwm @ o e dgeay
fertoan =ia-4t @ 2
() = & wfy Haeierr

@) fEfE & fav ama sk 8
(3) fornfdal &t swmansit &1

(4) frem =1 gfs-anffs ©




18,

19.

20,

21.

22.

(6)

plays a significant role in the
development of personality.

(1) Heredity

{2) Environment
(3)
(4)

A blend of heredity and environment
Number of examinations

Mohit likes to teach children and is
preparing hard for the entrance examination
for B.Ed. He is motivated.

(1}
(2)
(3)
(4)

intrinsically
extrinsically
actively
intellectually

“Logical mathematical intelligence” is

associated with
o))
(2)
(3}
(4)

two-factor theory
group factor theory
hierarchical theory

multiple intelligence theory

‘Activity based teaching’ emphasizes
(1)
(2)

disciplined class

completion of activity in due time

(3) active participation by all the students
(4) taking examination after completion of
activity

A teacher took her class on an educational
trip to

(1) provide a break from the routine

teaching in school

(2) provide opportunity to children for

direct observation

(3) do the activity specified in the school

calendar

(4)

provide entertainment to children

18'

191

20.

21.

22.

=feh-faerg i S HeEqUl g
T frafe & § |

(1) gy

(2) STdERT

(3) ongEferea it A w1 e
(4) lEmST HoHE

Aifed FT a9 F YT 3= Al ¢ IWAT 97
fus. F @w vl F A e e wwa
w_ hmfa

(1) 3iafis &9 |

(2) 9@ & F

(3) WFET €7 F

(4) difgs =1 ®

‘A Tt gfe” ¥ watud @ |
(1) fe-ar= fagia
(2) WYE F& o

(3) veHFHE fage
) =g fasm

‘nfafafy smaf@ fampor
Eo

(1) Srenfea Fey
(2) g wwa-safy ¥ ey @ wE
@) Wi frafid gw e SR

(4) T ¥ TUW AW & W qde o

e fofeer ST9 en ) Vit guo W S
2

(1 oo & Ut o ¥ TEEY IO

FH % fag

T MEdlsd & fo¢ S # IEH
Iy & F fag

faarers Setet § gfraa framan &0
& fag

Fedl B FARSH SR & & fag

(2)

(3)

(4)



23.

24,

25.

26.

(1) Negative transfer
(2)  Positive transfer
(3) Generalized transfer

(4) Zero transfer

(7)
There are three polio-affected children in a |28,

class. During the games-period they shouid
be

(1) seated in a corner so that these
children can enjoy the game

(2)  encouraged to take part in the games
appropriate for them, with other
children

(3) allowed to iake part only in indoor
games

(4) forced to play with all the students of
the class

According (o Kohlberg, ‘Children approach
thinking about right and wrong’

(1) differently at different ages
(2) in the same fashion at different stages
(3) as per the context

(4) as per the instructions given by the
parents

‘Emotional catharsis’ means

(1) Suppression of emotions

(2) Feeling highly depressed

(3) Bringing out emotional repressimi

(4) Increasing the ability to tolerate

emotional repression

Presence of identical elements between 26

already learnt skills and new skills results
in

24,

25,

]‘)
el ¥ A a= Ofed-ma ¥ @9 ¥ s A
B

(1) & FH # 3391 9fe afs 3 a9 =
AFT & |Wh

(2) 3% ==d & w9 3w Qe 7 femy
% fau Menfed s o

(3) AT HNARF (indoor) @l § fewmr o
& orEfa 2 =few

(4) W%Hﬂ?ﬁm%‘%m@aﬁ%m
SR ST wifew

Feert & gER G R Ted F an F ¥
_ faET swE

(1) e g d oyem aid 8

(2) 3 9O ¥ @R ®9 §

(3) dHal & aEn

(4) e g s PR & siER

WA fRe’ & aned @

(1) HaW F @A

(2) ¥gd U NI HEgy &
(3) Hamm® T W At R

(4) WITOW < B WeT WA I Argar
T

e & W S g Fhwe ok AU @t §
UHEAA el @ osufeufa @ aftony @

(1) FHAS 3R]

(2) HHERIHSE 3T

(3) HMRIFd et

(4) I A




o

28.

29!

30.

(8)

A teacher normally assigns different tasks to
the students. He/she believes that

(1) students do not like assigning same
work to all the students

(2) it promotes competition among students

(3) there are individual differences among
students

(4) the students will not be able to copy
each other's work

are involved in thinking.

(1) Image, language, imagination,
proposition

(2) Image, imagination, concept,
propaosition

(3) Imagination, language, concept,
proposition

(4) Image, language, concept, proposition

Continuous and Comprehensive Evaluation
15

(1) Teacher-centered

(2) Student-centered

(3) Assessment-centered
(4) Performance-centered

Which one of the following is least important
in an inclusive classroom ?

(1) Lesser stress on competition and grades

(2) More co-operative and collaborative
activity

(3) More choice for students

(4) More cffort by teachers to “cover”

course

27.

28.

29,

30.

s foms wm=ar faanfdal & srem-sem s
A/ § | 98 TR favars wayad @ fF

(1) fomdf wF W Fd o fafiE @ feg
aﬁﬁmqﬁaﬂﬁ

(2) 98 faafidl § sfawmdf v g 2

@) foafdd ¥ dafes i d &

(4) fomdf wH-sR & = & 9w W@ =
el

i & e g

(1) 9femr, wmw, wer, wfesfa

(2) 9idHr, seqa, Fheqqn, yfagia

(3) egAl, WM, Thewqn, wfagfa

(4) S, o, d@dewqn, wiawfa

T R A9E [T B @ |
(1) forfes-<&fea

(2) frmdf-#feq

(3) SRIR-3menfia

(4) fearea-3mafia

woEw g ¥ frafafad ¥ wew @w
eyl W= § 2

yferaifirar etk 4 w #y Ta
(2) s Hgell U geanmHs ufafafy
(3) faafdal & fau 9fus faseq

(4) &€ H 00 RA & fau” RwE g
Hiys w9y

(1)




(9) I?

Candidates have to do questions 31 to 90 EITHER |qiignféal &t w7 31 @ 9o ar @ sy 1y (77017 &

from Part Il (Mathematics and Science) OR from ﬁ?ﬂ?} T T {11 (QTRTSE g QIS &)
Part 111 (Social Studies/Social Science). & e 3‘ /

PART II 7/ 9197 11
MATHEMATICS AND SCIENCE / 7fog 9 fasm=

Directions : Answer the following questions by |f3d%r : fy=ifeifiad 5o+ & 3o 23 & fv gaq fam

selecting the most appropriate option. faFeg W /
3.1- Th& V'dlul.‘ Of [2 = 3 {2 -_— 3}‘_1]_1 18 31. i2 -3 (2 _ 3)-41'—-] & "1 -a
(1 5 (1) 5
) = @ -5
1
= 1
1
= 1
4y - 5 4) - =
32.  Which one of the following statements is not 32. fr su F @ F5-w w09 g W@ L 2
true ?
1 4 =8
(1 V64 =8 o4
JO-4 = 0-2
2 404 =102 (2)

@) 0uF oy dem @
(4) 243 TF Ui W T 2

(3) 0 is a rational number

{4) 243 is not a perfect cube

5310 5301 2310 = 2301
33. The value of the expression E?‘STZ is |33 = -'2'30-6--—— & WA &
[y =i  Psa
2 2°_) (@ 2%_ 1
@ oo =19 (3 2@-1
n10

210 = 4 2 -1

(4) . 4 >

SPACE FOR ROUGH WORK / X% &1 & foe sne




34,

35,

36,

(10)

One of the factors of 12—22+y2~2xy is
(1) z-vyv+2
(2} x+y-2z
(3) x+y+z

4} y+z-x

The value of 2(a®+ ab + 3)~ab when

"a=5 and b=-38, is

(1) 23
(2) 35
(3) 41

{4) 53

Aman is now fifteen years younger than
Abdul. After six years, Abdul will be twice as
old as Aman will be then. If the present age of
Abdul is x years, then we have

(1) 2(x-9=x+8
(2) X-8=2(x+6)
(8) 2(x~18)=x+ 8

(4) x-15=2 (x + 6)

34.

358,

36.

- 2% 4 y? — 2xy H TF ToFEE &

(1) X-y+z
2) x+y-2z
(B3) X+y+z

4 y+z-x

T a=53 b=—3%, W 2(a2+ab+3)—ab
A & '

{1) 23
(2) 35
(3) 41

(4) 53

37 TW WY Hege W UHE 9 oRey # | oy
I TR, WGH B A IH G W AT &
Y H T B OCH | A sgw A ade
g x T &, 99 & g &

1) 2x-9=x+6

2 x-9=2(x+6)

(B) 2(x-15)=x+6

(4) x~15=2(x+ 6)

SPACE FOR ROUGH WORK / Y% &/ & fore sme



(11)

I)

37. The compound interest on T 36.000 leni at 1
37. : — 1
8 rscxmmemt B Drsms Mooy T 36,000 W 10% AEF = B 23 i &
pe 5 ¥y ! s interes : i e g afE w Y GRR
is compounded annually, is gl @, 2
(1) ¥ 7,560 N —
. 5
(2) ¥ 9,000 @) 79000
U (3 2 9:'.?38
e = Okl (4) T 11,916
38. The number 0-000000000123 15 expressud in 38, H’@T 0-000000000123 qﬁ % &Y -ET ﬁq TFHH
standard form as q = e wa % ;
(1) 128 x 1072 o 458 s igrE '
(2) 123 x 107 & amEag
(3 123 x 107" i s g
® 0128 x 10 4) 0123 x 107°
39, Sum of mode and median of the data 39, affehal
15, 10, &5 19, 46; 11,18, 12, 15 12,15, 11, 13, 18, 11, 13, 12, 13
= ¥ TEEE U WA H AR 3
(1) 25 (1 25
(2) 26 (2) 26
(3) 31 (3) 31
(4) 36
{4) 36
40. T& FX 1782 Tl & gl 4.4 51 § T8 =
40. A car covers a distance of 1782 km in T
| 3 FR 12 21 H @ # l
4-4 hours, The distance (in km) covered by the ¢ iy Bl L i
carin 1-2 hours is (feddt #) 2
(1) 405 (1) 40-5
(2) 407 (2) 407
(3) 4846 (3} 486
(4) 502 {4y 502

SPACE FOR ROUGH WORK / X% &1 & fow s




P
41.

42‘

43.

(12)

In the figure, £ 2 = # 3 = / 4 and
Z5=150° Then £ 1 =
2
< 3 —
\5\’4\‘
(1) 100°
2y 120°
(3) 130°
(4) 140°

Prime factorisation of two numbers a and b
are

a=2x2%x2x2x8x5
b=2%x2x3x3x5x5
LCM of a and b is WY

(1) 2%x3%xs52
) 2%x3%x5?
(%) 2%*x32x5?

4 2%.3%2x58

In A ABC and A DEF, AB = EF, BC = DE
and £ B=/E = 80°, Then A ABC = A FED
by the criterion

(1} 88S
(2) SAS
(3) RHS
(4) ASA

43.

41.

42,

HFAH, £2=v8=,43R2L5=150°% |
WLl

1

i

rs

(1) 100°
(2) 120°
(3) 130°
(4) 140°

& HEmEl o R b % AT REE §
a=2x2x2x2x3x5
b=2%x2x3x3x5x65

a 3 b ¥ T.H. (LCM) 2

(1) 2% x 32 x 52

20 2%x3%x5?

3) 2*x3%x5d

4) 22 x 32«58

A ABC 3R A DEF #, AB = EF, BC = DE a4
ZB=/E=90°% | ¥ A ABC = A FED f=

iR Siet ¥ 8
(1) SSS
(2) SAS
(3) RHS
(4) ASA

SPACE FOR ROUGH WORK / X% &1 & fore e



(13) P
44. In & PQR, side QR is produced to a point S, [44. A PQR #, 91 QR %! fa< s 7% wgmar w #,

and exterior angle PRS = 100°. If RP = RQ, aﬁ{ TRl q.fru'[ PRS = 1000? | zrﬁ RP = RQ
then measure of £ PQR is
g, @ ~PQR® [ &
(1) 50°
@) 70° (1) 6o
(3) 75° {(2) 70
4) 80° (3y 75
(4} Bo°
1 6 61
Th ] fF6+ — 4 ——— + ——— j :
45.  Thevalueol b+ o0 * Tooo T Toooo = 5. 6+ L4 8 , 81 o2
10 1000 10000
(1) 6167
{1) 6-167
{2) 61021
(2) 6-1021
(3) 6-221
(3) 6-221
(4) 61121
{4y 6-1121

46. A polygon has a perimeter of 16 cm and an )
46. fFel sgye &1 9fomg 16 Adt qar Sawe 16 Wi

area of 16 cm?. The shape of the polygon is a

(1) triangle 2|3 agYsl d
(2) square (1) f

(3) hexagon (2) i

(4) rectangle which is not a square (3) HsHH

(4) TF 3Ed & 9 @ 8

: . 9 -
47. A square field whose area is 36 m? and a 47. W TfER @4, f 3 36 W2 3

; " . 2 - i
rectangular lawn whose width is 7 of the m G;FL Fored . &
side of square field have the same perimeter. = 2 Ee 3
The area (in m?) of the lawn is Hl b L 3 é, a9 g § Fl

2 -
(1 24 g (1.2 ) @
(2) 32 (1) 24
(2) 32
(3) 48 fah e
i K4 4) 64

SPACE FOR ROUGH WORK / % &/ & fiw smie
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49,

50.

(14)

Circumference of the base of a right circular
cylinder is 44 cm and its height is 15 cm.
The volume (in em?®) of the cylinder is

(Take n = 27_—2)

(Ly 770
(2) 1155
(3) 1540

(4) 2310

Radii of two circles are 8 cm and 6 em. The
radius (in em) of the circle having the area
equal to the sum of the areas of these two
given circles is

(1) 9
(2) 10
(3> 12

(4) 14

A box with inside measurements

60 cm x 30 em x 24 cm is full of wooden
cubes of the same size. If the number of
cubes is 25, then the side (in em) of each
cube is

(1) 6
2 9

(3) 12

(4) 18

48,

49.

el va-3d 9eF & SR & aRfy 44 T
2 ot T oA 15 AW | Fem W om

(ﬁ"ﬁs ﬁ) % (m= % F”if'l)

(1) 770
(2) 1155
(3) 1540

(4) 2310

& gt it B g T awr 6 WA E | 3w gw
F fren (W °) fome dEew 3@ @ g g
Ful & ARl » ATEA & AU 8, A 2

(1) 9
2y 10
(3) 12

4) 14

AR "9 60 TH x 30 VA x 24 VA A TH
T ARGk U & WEA & G ¥ WO gan
21 A b # o gem 25 |, 9 vdE W=
g (3 H) 2

(1} 6

2) 9

(3) 12

(4) 18

SPACE FOR ROUGH WORK / X% &1 & foe sme




51.

52.

(15)
51. frafafed & ¥ #H-a@1 wv9 ge-ofF aren www

Which of the following questions are open
ended questions and can be used to enhance

mathematical thinking 7
(1) Find the solution of 2x + 4 = 8

(2) Write a real world problem for which
2x + 4 = 8 is a solution

(3) Verify that x = 2 is the solution of the
equation 2x + 4 = §

(4) Plot the graph of 2x + 4 = 8 on

cartesian plang

In a Computer Aided Learning (CAL) class, a
teacher ran a programme on screen about
‘Triangle’ and sat behind in class as an
observer. This type of computer aided learning
based on programmed learning may be

disadvantageous as

(1) students may feel lost due to absence of
teacher — pupil interaction

(2) students get every information in

sequential manner

(3) students get a chance to understand at
their own pace

(4) students are responsible for their own
learning

52.

]!‘.‘I

¢ ag 3q il fa 9eR & foe wgw e
Eil:cr S

(1) 2x+4=8 H ga 79 Ffaw

(2) UF TS Siad & gwen fafew faas
0 2x+4-=8 T%F &4 ©

(3) fag #IfST fof x = 2 GRFT 2x + 4 = 8
O 2

(4) T TG W 2% + 4 = 8 F AAT
o

e fofier Fvgel wgrs R (CAL) Fn #
B WP & aR 0 s FEdwe 9end 2
st Fam A 99 F R vE woww ¥ w9 A
da ot § | wERiE sfrm W@ amafE T
SR & FEel Herds A & G 8w
2

(1) Toers - foedl sfafear &t srufefs &

o foendf stadeg # o wea €

(2) fdl & Yo sEhe @ ¥ owe
A g

(3) fomfipdl =t st fa & ewEER g
1 3raat fiern @

(4) famdf o3 afym & fow wd R
g

SPACE FOR ROUGH WORK / T &1 & fole smg




53.

54.

55.

(16)

Relatien understanding is preferable over
instrumental understanding as it helps the

(1) child toc make connections between
different mathematical ideas and
makes it easy for him to solve the
prablem

(2) child to- understand algorithm of the
problem and makes it easy for him to
solve the problem

(3) child to apply mechanically the
procedure without going into reason
and he can solve the problem easily

(4) child to identify appropriate formula to
be used and he can solve the problem
easily

‘Concépt Map’' cannot be used for

(1) planning a lesson

(2) revision of a lesson

(3) summative assessment of a lesson
(4) formative assessment of a lesson

A teacher asked the students to wrile the
following statements :

(i)  Twice of x plus four
(11) Three time x minus 7

Students responded as 2x + 4 and 3x - 7,
while the teacher was expecting 2(x + 4)

and 3(x - 7). The above mistakes have

cccurred due to

(1) lack of understanding of linear
expressions

(2) lack of appropriate practice of writing
linear expressions

(3) careless listening by students
(4) language used by teacher

53.

54.

55.

Hay & Wy Fifw gug F e § s
2 =ity 78 Frefefea & aema St € |
() == g fofiysr e el &
ey 94 H HerEal Fa 2 3IR
fAu gRE-SME # WS ST 8
(2) =% A WHE ¥ USRSy & 9ue

12 %

=P

(3) w1 FRUT &K HEF far

Hehdl
(4) aqear ¥AM fFT 9H A

s i faafdgt 1 fAafafea s99 T

%fﬁ@%ﬁ?%:

) x% g ¥ 9] 5w

(i) ®F AR x 9T 7

famdf 2x +4 SR 3x-7 & &9 H yAkwE@
3 ¥ s R 2(x+4) 3 sx-7) #
A W W A Iw e e
FROT |

(1) (@ = 3 999 & 319

(2) @ =us # fae & 3fad s &

SR
(3) foafiat g0 g & RErEd
4) fRR g0 wgwF 9

SPACE FOR ROUGH WORK / % &1 & fow 77




56.

a7.

(173
A child of Class VT is able to find solulions of |66,

given linear equations but is not able Lo solve

word problems. The child is al Piaget’s
(1)  Sensori-Motor Stage

(2)  Pre-Operational Stage

(3) Concrete-Operational Stage

(4) Formal-Operational Stage

To help the students writing proofs of 57.

Geometrical theorems Mr. Masih divided the
class into small groups and asked each group
to evolve the proof of the theorem by mutual
discussion. His objective of using this strategy

18

(1) to engage the students in discussion
and independent learning

(2) to compel the students to open the
text-books, read the proofs and
understand on their own

(3) to engage the students in collaborative
learning

(4) to allow the students to be active
participants in discussion, test various
possibilities and reach a conclusion
after reasoning

]‘.l
FF VI UF a=d feu 0 Y@ g ®
B §A AR & qrEa @A @ afea e
st ® oA A W e | wew e 8

(4) 3INqafis-dfiparss sawn

d wim sfadlg wEt % oo ey i
foeniadl = weEa @ & fau Fen @)
S92 W@ i Al § ok wds @R @
HH 9 g WAl & war faEfad s %
faw #ga & 1| 39 wAfa & &M FE w1 3T
Ry 2
() wE ¥ w=d dred § faofEr @ wfie
T

(2) foaféEdi #t oeg-TEs @ed, i St
e 3 W weH & o faaw &

(3) UgdMers e famnfdar & onfie
T

(@ W= H fymfE w wf i

fram, fafa gameaEi &t sig |3 ok
T & 9 e | & fau g

SPACE FOR ROUGH WORK / Y% &1d & foe swe
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(18)

38. Manipulatives in Mathematics class are used

59,

60.

to
(1) demonstrate mathematical ideas and
construct mathematical understanding

(2} engage students so that they do not
interact with each other and maintain
discipline in class

(3) give first hand experience to students
in order to make them good problem
solvers -

(4) make students more skillful by having
concrete experiences

Link Sheet is a useful tool. It looks as below
Concept :

Mathematics (Symbol) ]Everyday Example

Diagram/Picture/Graph| My Explanation

This tool ean be used

(1) to introduce the topic on Similarity, for
checking the previous knowledge of
Congruency

(2)  to explore the concepts of Similarity

(8) to build the basis for theorems in
Similar Triangles

(4) to assess the understanding of Basic
Proportionality Theorem

Major aspect of Inquiry based lesson plan is
(1) Exposition

(2) Exploratory tasks

(3) Extended learning tasks

- (4)  Cross curricular integration

58.

60,

T @ FE A FEECE AT T ST

(1 TRt el & el w50 it i
Ty F o +3 § faw

(2) feofadt #t = @Y ¥ foav afs 3
TH-TR F AR 9w s Fwr A
SARA @

(3) Tafid it s =1 gwwr goaEEda
T & Y 3% v §Y % HqwE
F faw

(4) EUUIC R p e e
RylE

faF 3fe (Link Sheet) Teh IYGRT I 2|
7 1 1 T8 fowan @

eI
TIfOTe (o) Tl & e
sT@) fars % T EEH
T9 ITHT H TRAE fFar S G @

(1) FEheHal & @ 39 & 99 w9 &
T, WETa % HOT # WEd =9 $
fere

(2) FHETA F HEewARi # IR F AU

(3) w&Y e ¥ yEl & fAU s R duR
1 F fau

(4) SHRYd  THAAYH
HHAT FH & o

uRy=sl STUIRT WS- W e w2

(1) =

(2) GiEHwE HY

(3) fowafta e &

(4) Y Wﬂf THROT

SPACE FOR ROUGH WORK / T% &1d % e o7
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61.

62.

63.

G4.

(19)
Malaria is caused bv a 61,
(1) Protozean
(2)  Virus
(3) Bacteria
(4) Fungi
Cellulosc is made up of 62,

(1) loose cells
(2} polycot
(3) terrycot

(4) glucose

A teacher while teaching a concept frequently
takes feedback from the students. This

practice may

(1) be termed as ‘Formative Assessment’

(2) disturb the thought process of students
and hence should not be done

{3) deviate the teacher from achieving her
objective

(4) establish a conducive environment in the
class

Which one of the following is a reason for a
teacher to consciously introduce different

stimuli in her lesson plan ?

(1) To see the effect of this experiment

(2)  To address different learning styles of
students

(3)  Itis recommended by her Principal

(4)  To prove her excellence in the knowledge
of the subject

63.

I“.l
it &1 A ¢
(1) Heisem

(2) =
(3) it

e

(4) W%

s
(1) qF Fifermsi
(2) Uicisie

(3) i

(4) TR

s s deern e gwa fyafddi @

HFRL Y (feedback) Tl & |

(1) w@mﬁ‘wm'aﬂm
TRl &

2 @@ fww ool &t Faa-sfeg
fear s =ifgw

(3) & v fims & 395 Ivdi I witg
¥ forafaa =1 oot

(4) T8 fFar F81 4 Y& g@Ewr S Gt
T OHHD 8

T &= e

frafafea & 4 a8 #t-w srwr 2 fomsd) o
d U o # aoh ge-dee § w69 w9
fafira ¥l it w9m 391 =few 2

(1) 39 ¥4m & 399 2@ & fag

ﬁvﬁzﬂﬁﬁﬁﬁﬁwﬁfﬁﬁ?ﬂ#
Hﬁfﬁam%fm

(3) ﬂ'@'aﬁaﬁwﬁ%amfﬁqaa?r%

(4) 97 ¥ 59 g9 ' IFEar $ i
FH F fou




65,

66.

67.

68.

(20)

The distance - time graph for the motion of
two vehicles A and B is given below. Which
of the following statements is true ?

A

B

Time —

stance —s .
(1)
(2)

B is moving faster

Both A and B are moving at the same
speed

It is not possible to find out the relative
speed of A and B from the graph

A is moving faster

(3)

(4)

Phosphorus is kept in water to
(1) |
(2)
(3)
(4)

purify water

make water soft

prevent its contact with oxygen
denature it

The calorific value of a fuel whose 1-5 kg of
mass produces 67,500 kJ of heat on burning
completely will be

(1) 45,000 kJ/kg
(2) 30,000 kd/kg
(3)  1,01,250 kd/kg
(4)  1,01,250 kg/J

While organizing an activity in the classroom
for students to have hands-on experience,
the role of the teacher is to

(1) ask students to carry out the activity

striclly as per the instruction given
(2} supervise students and provide guidance
wherever required
{31 give all the freedom to students to carry
out the activity on their own

(4) Instruct constantly so that students
achieve their results without making any

mistake

65,

66.

67.

68,

q ad A sk B T & f gh - W A
Ao femr T & Frefafeaw ¥ @ #w we
o @ ?

E B
@—
B 31Uy dm R @ wa @
AR BEHE wH 1 ¥ 9 @ ¥
TE H AR B F oo T @ w@
g T8 ¢
(4) A 3UgHd dim nf7 | 99 T R
WERRE F1 9 § T e 2
(1) 59 & & A & o
(2) w9 F 9g FA F fag
(3) A F WY I GO A o F forw
(4) 3HH A WFA K T F fow
(Fagpferenor)
sfaqmrmvxqﬂﬁmﬂwﬁmmw
Y ¥ AT W 67,500 fhell @ IS Ieqifed
A &, I
(1) 45,000 foFelt S/ fe

(1)
(2)
(3)

(2) 30,000 fat S[e/fe

(3) 1,01,250 fRel Sa/fem

(4) 1,01,250 foFar/S

o By A frafldl i rwwe ogwe 3§

feq nfafafy &1 smEem @ 999 @ e &

g &

(1 fu 7w fi % oER #@R wy R
nfafafys & & fau faafdE & sz

(2) foofédl #1 wfww o et swi

ST # AEYIEA 7, ArfeyH  Iucisy

ENE)
(3) foenfal =1 oot 908 & Ry =3 &
fow qf e &
amaR fidw I afs famd e @
Terdt fRT SToe o & owa e w

(4)




69,

70.

71.

72.

73.

{21)

The best way to make students learn a topic
in Science is to

(1) ask them to take turns to read the topic
aloud and then explain its meaning
create a situation which prompts the
learners to ask questions and help them
to seek answers.

discuss the topic in detail and write main
points on blackboard

discuss the application of the knowledge
based on topic in day-to-day life

(2)

(3)

(4)

Biosphere reserves conserve
(1) wild life

(2} traditional tribal life
3
(4)

forest resources
All of the above

A prokaryotic cell is characterized by
(1)
(2)
(3)
(4)

well-defined nucleus
absence of nuclear membrane
presence of nucleolus

relatively young age in comparison with
eukaryotic cell

Which one of the following is correctly

matched ?
(1) Estrogen — Male hormone

(2)
(3)
(4)

Adrenaline - Stress reliever
Insulin — Provide insulation in winters

Eve’s pear — Girl's neck

Which one of the following is the correct
increasing order of the rolling, static and
sliding frictions ?

(1) Rolling, static, sliding

(2)
(3)
(4)

Rolling, sliding, static
Static, sliding, rolling
Sliding, static, rolling

69.

70.

71.

T2,

73.

]'.'
fraflEl s e & = v ® G @
UF wafw alew @

(1) 3¢ I-9d A THOT H G 3y F0
3 39F 3 I9F o N Ty @ F

(2) U el = fmfn 3o S e
T & fau Meafzga s & o
I ¥ I e FHET

(3) WU & an A fawr @ w9 S0 ek
WM W g fag faea

(4) F ST ¥ yawr w oM §H &
AT F o w

;ﬂa—ﬁgﬁamﬁ:ﬁ-@a & T FHAl

|

(1) 99 Sfraq

(2) WU nfeard) siga

(3) TF-HEA

frafafen & & si-a 7 @ & ?

(1) TS - 769 gHH

(2) USAAH - TE-YERE

(3) e — Wil & goerrton/ At sqe= w1
(4) ¥9 & feR - wga & T

defis, @fis ok aff = = fefafeg §
# B9 W wgar w9 2 ?
(1) «rRfHs, wfos, adf
(2) i, i, s
(3) wifaw, wdf, defes
(4) uf, wfgs, defm




78.

79.

80.

81,

(1) A myopic person wears spectacles having
' concave lens
{2) Myopia is caused due to elongation of
eye-ball
(3) A myopic person cannot see nearby
objects clearly
(4) The far point of myopic eye comes closer

(4

(23)

Which one of the following is a fossil fuel ?

(1) Compressed Natural Gas (CNG)
(2) Liquid Hydrogen (LH)

(3) Polyethylene Terethalate (PET)
(4) Low Density Propane (LDP)

Which one of the following statements about
myopia is incerrect ?

Washing the rice many times using a large
amount of water before cooking leads to

il

(1) loss of vitamin *

(2) loss of vitamin ‘B’
(3) loss of the water-soluble carbohydrates

loss of the surface protein

A Merry-Go-Round is moving at a
non-varying speed of 10 m/s. It implies that

(1) it is moving with uniform velocity

(2) it is moving with uniform acceleration
it is moving with uniform speed

(3)

the actual distance covered by swings
with respect to each other is 10 metres

1)

78.

79,

80.

81.
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74.

75.

76.

77,

(22)

Which one of the following alloys contains
non-metal as one of its constituents ?

(1)
(2)

Amalgam
Steel
(3} Bronze

(4) Brass

When white light passes through a prism,
the colour which bends the least is

(1)
(2)

Indigo
Red
(3} Orange

{4) Violet

A student exhibits the following three traits
A, B, C. According to the three domains of

personality,
A B C
Tells the Accuratel
Does not : Y
chemieal measures the
waste the ;
; formula of | volume of a
water while
S water sample of
using it
correctly water

which one of the following is a correct
sequence for the three ditferent domains ?

(L
(2)
(3)
(4)

A-Affective, B-Cognitive, C-Psychomotor
A-Psychomotor, B-Cognitive, C-Affective
A-Cognitive, B-Psychomotor, C-Affective
A-Cognitive, B-Affective, C-Psychomotor

Metallic oxides are in nature.
(1)
(2)
(3)

(4)

neutral
acidic
basic

amphoteric

74,

75.

76.
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82,

83.

84‘

85.

(24)

Which - one of the [ollowing 18 most
appropriate with reference Lo Science and
Technology ?

(1) Science follows scientific method while
Technology does not
(2) Science is more creative than Technology

{3) Science is open-ended while Technology
is goal-oriented

(4)

Science was present in ancient times
while Technology was not

‘Historical Validity’ of Science curriculum is
necessary to

(1) view science as a social enterprisc

(2) counterbalance the scientific validity of

history

(3) ensure the correctness of dates of
scientific discoveries in the past

(4) prove that history is as natural in nature

as science

‘Inquiry Based Curricula’ is based on

(1)

Deductive reasoning

(2) Inductive reasoning
(3) Heuristic reasoning
(4} Analogical reasoning

‘Science Curriculum’ should aim to

(1) develop stamina to work for long hours

(2) supplement the content with a
pedagogical strategy to be followed by
all the schools

(3) compartmentalise subjects to achieve
specialisation

(4) cultivate objectivity, critical thinking

and freedom from fear and prejudice

B2,

83.

84,
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Which of the following is among the
principles proposed by the NCF, 2005 for the
development of curriculum ?

(1) Making examinations more flexible and
integrating them with classroom life

(2) Ensuring that the learning takes place
unhurriedly to relieve the stress on
students

(3) Ensuring the preclusion of controversial
references in the content

(4) Updating the level of learning to the
international level

The largest gland in the human body is

(1) Pituitary

(2) Liver

(3) Adrenal

(4) Pancreas

Which of the following is present in the Acid
Rain ?

(1) Sulphurous Acid

(2) Nitrous Acid
(3) Carbonic Acid
(4) Carboxylic Acid

Which features adapt polar bears to live in
extremely cold climate ?

(1) A white fur, fat below skin, keen sense
of smell

{(2) Thin skin, large eyes, a white fur

{(3) Small eyes, strong claws, white large
paws .

(4) White body, paws for swimming, extra

gills for respiration

Which of the following is used in place of an
‘Electric Fuse’ ?

(1)

A small piece of wire having high
melting point

Miniature circuit breaker
An ISI-marked electric switch
A small piece of insulaling material

(2)
(3)
(4)
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Candidates have to do questions 31 to 90 EITHER
from Part II (Mathematics and Science) OR from
Part I (Social Studies/Social Scienee).

wigEE w AT 31 & 90 & A €T 1 (7T W

RF) a1 ST 11 (W sy wrais fr)
ikacl

31.

32,

33.

34.

PART III / 91 111
SOCIAL STUDIES / SOCIAL SCIENCE (Y31 31t | wmifre fasm=)

According to archaeologists, during the
Paleolithic period, ‘factory sites’ were

(1) places where the food was stored

(2) places where stones were found and
people made tools

(3) places where clothes were made from
the animal skins

(4) caves where paintings were drawn

In which of the two Harappan sites has
evidence of the ‘fire altars’ been found ?

(1) Mohenjodare and Harappa
(2) Harappa and Kalibangan
(3) Kalibangan and Lothal
(4) Lothal and Mohenjodaro

‘Megaliths’ are

(1) stone tools used by Paleolithic people
(2) burial sites

(3) remains of comets and asteroids

(4)  sculptures worshipped by the Harappan
people

A tax was termed as ‘bhaga’ during the
Mahajanapada period. What was the rate of
bhaga ?

(1) /4™ of the produce
(2)  1/2 of the produce

(3)  1/3™ of the produce
(4) 16" of the produce
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Which onc of the following classes was a |85.
prominent supporter of Jainism ?

(1) Brahmanas
(2) Kshatriyas
(3) Vaishyas

(4) Shudras

Whao among the following believed that only |34,
those who left their homes could gain true
knowledge ?

(1) Mahavir_a and Parshvanatha
(2) Mahavira and Buddha
(3)  Vedic sages

{4) Buddha and Makkali Goshal

‘Shrenis’ were '
3%,

(1) Coins issued by Kushana rulers
(2) Degrees of Vedic education
(3) Associations of merchants

(4) Parts of temple architecture

Which of the following rulers were defeated by
Samudragupta but were allowed to rule after
surrender 7

{1) Rulers of Aryavrata
(2)  Rulers of Dakshinapatha
(3) Rulers of gana-sanghas

(4) Descendants of Kushanas and Shakas
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Aryabhatta, the greal astronomer, wus a
member of the Court of

(1) Chandragupta 11
(2)
(3) Kanishka
@

Samudragupta

Harshavardhan

Rulers of which dynasty had been called as
the Lord of dakshinapatha ?

(1} Chola
(2) Vokataka

(3) Setavahana

(4) Shaka

ﬁshvaghosha had written the biography of

Buddha — Buddhacharita’ in which of the
following languages ?

{1y Pali
(2) Prakrit
(3) Sanskrit

(4) Apabhramsa

T

‘Hanafi” and ‘Shafii’ are

(1) Islamic schools of law

(2) Islamic schools of architecture
(3) Islamie schools of theology

(4) Islamic styles of writing

The primary duty of Samantas towards the
King was to

(1) pay taxes
(2)  provide military support
(3) be present in the court

(4)  entertain kings
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‘Dehliwal’ was

(1) a resident of Delhi
(2) a coin of Delhi

(3) a fort of Delhi

(4)  a type of woollen cloth

‘Delhi-i-Kunha’ and Yahanpanah' are

(1)  Titles possessed by the Sultans of Delhi
(2)  Canals built by the Mughals

(3) Cities built by the Sultans of Delhj

(4) Designation of higher officials in the
Mughal period

‘Black towns’ were established in India by
European companies

(1) to use African slaves for working in the
factories

(2) to confine native traders for impeding
their trade

(3) to corner Indians and dogs so as to
prevent their entry into the British
clubs

(4) lo imprison those who were against
their companies (Kala Pani)

Devanas, Chhipigars and Rangrez were

(1) People engaged in the process of

making clothes

(2) Officials working with the East India
Company

(3) Temple officials of South India

(4) Notified criminal tribes
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The East India Company wanted to sccure
the control over North-West and fought wars
with Afghanistan

(1) as they wanted to reach the natural
political boundary of India established
by previous rulers

(2) to control the trade route passing
through Afghanistan

(3) to counter the Russian expansion in
Asia

(4) as they wanted to attack Persia to got
the booty

Vernacular Press Act, 1878 was passed Lo

(1) allow Indians to print newspapers and
magazines

(2) allow Europeans to print newspapers
and magazines in India

(3) silence the voices of those who were
critical of the British government

(4) allow printing in vernacular languages

Khilafat Movement was started in 1920 to
(1) unite Muslims of India

(2) co-operate with the Congress in the
national movement

(3) protest against ill-treatment meted out
to the Khalifa of Turkey

(4) counter the movements of Muslim

League

Which of the following is true with relerence
to 180° E and 180° W longitude ?

(I} They are opposite to each other
(2) Both are the same
(3) They are 180° apart from each other

(4) Distance between them always remain
constant
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The elevation of land is measured from the
level of the sea because

(1) major part of the Earth is covered
under water

(2) the level of sca water keeps changing
with tides and ebbs

(3) the level of sca water remains the same
everywhere

(4) it is a tradition started in Spain and
followed since then '

Dakshin Gangotri is

(1) origin of the river Kaveri in Southern
India

(2) meeting point of the Ganges with the
Bay of Bengal

(3) a research station established by India
in the Antarctica

{(4) Origin of the river Ganges in the state
Uttarakhand

Stacks are formed by
(1) rivers

(2) sea waves

(3) snow

{4) wind =

The correct sequence of different spheres in
the atmosphere of the Earth if we move
away from the Earth is

(1) Stratosphere, Troposphere, Mesosphere
(2)  Troposphere, Stratosphere, Mesosphere

(3) Stratosphere, Thermosphere,

Mesosphere

(4) Exosphere, Mesosphere, Troposphere
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Which country possosses ne known mineral
deposits 7

(1) Myanmar
(2) Poland
(3) Switzerland

(4) Denmark

The brand ‘Amul’ is a successful example of
(1)
(2)
(3)
(4)

Butter Industry
Public-Sector Industry
Co-operative Sector Industry

Private Sector Industry

‘Balancing the need to use resources and

also conserve them for the future’ is
development,

(1)  Resourceful

(2} Supportable

(3) Sustainable

(4) Superficial

The most appropriate to prevent soil erosion
on steep slopes is

(1)  Mulching

(2} Shelter Belts

(3) Terrace Cultivation
(4) Inter-cropping

The Population Pyramid indicates

(1) age, sex and composition of population

(2)  population density
(3) pattern of population distribution
(4) ratio of birth and death rates
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Law on a subject in the Concurrent List of
the Constitution can be passed by

(1) Central Government
(2) State Government

(3) Both the Central as well as State
Government

(4} The Supreme Court

The Cauvery river dispute is between

(1) Andhra Pradesh and Karnataka

(2)  Andhra Pradesh and Tamil Nadu
(3)  Kerala and Karnataka

(4) Tamil Nadu and Karnataka

‘The Covked Midday Meal Programme’ was
introduced for the first time by

(1)  Uttar Pradesh
(2)  Odisha

(3)  Andhrz Pradesh
(4) Tamil Nadu

Advertising promotes
(1} Social equality
(2) Social inequality
(3) Sacial justice

(4) Only the utility products

India being a secular state
(1) intervenes in the religious matters
(2) does not intervene in religious matters

(3) maintains ‘principled distance’ as per
the Constitution

(4) patronises all religions
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Which of the (ollowing is a ‘Public facility’ 7
(L)
(2)
(3)
(4)

Public health eurc
Public protest
Public schools

Publi¢ Provident, Fund

Drop-out rate of the girl students from
disadvantaged groups is higher due to

(1)
(2)
(3)

Parents’ apathy {v their study
Early marriages

Poor socio-economic status (SES) of
their families

(4)

Absence of girls' schools
g

Full version of the abbreviation EVM is
(1)
2)
(3)
(4)

Electronic Vision Model
Extended Values Modules
Electronic Voting Machine

Election Vehicle Monitoring

‘Rule of the law’ means
(1)
(2)

rule out the possibility of law-breaking

rules and laws are indispensable for a
democratic socicty

(3)
(4)

rules and laws apply equally to all

rules are the subsections of laws

On how many levels does the Panchayati Raj
system function ?

(1) One
(2) Two
(3) Three
(4) Four
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It is important to reinstate the significance

of the Social Sciences by

(1)  highlighting its incréasing relevance for
a job

(2) laying the foundations for an analytical

and creative mindset

(3} highlighting the need of the knowledge

of social phenomenon

(4) emphasizing the values that are needed

for an orderly society

The curriculum of Social Sciences should
reflect

(1) interdependence of social phenomenon
with Sciences :

(2) domination of the national interests
over local perceptions

(3) the need of cultivating the civic sense
in the Indians

(4) integration of the perspectives of
women with the discussion of any
historical event

A teacher comes across the argument that
“Parliamentary form of democracy is not
suitable for India.” She/He should react by

(1) reprimanding students for voicing such
undemocratic ideas

(2) telling them not to make any value
loaded judgment in a haste

(3)  telling them that there is no other
feasible alternative

(4) not dismissing or agreeing with it
rather redirecting it towards what the
Conslitution intends
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A Political Science text-book refers to the
inequality existing in the USA under the
topic ‘Equality’ to '

(1}
(2)

show that it is a global phenomenon
show that even the USA cannot control
it

prove that the USA is not a model
democracy

(3)

(4)

prove that India is the most democratic
nation of the world

Historians and archaeologists are sometimes
compared with detectives because

(1) they write aboul the secret misgions
that took place in the past

(2)  they serve as secret agents for tracing
treasures of the past

(3) they take clues {rom various sources
while investigating about the past

(4) they disguise themselves as detectives

While teaching ‘Inequality which of the
following would be the best suited approach ?

(1)
(2)

Discuss as it is given in the text-book
Highlight the inequality faced by the
people

Talk on topics like female foeticide and
dowry system etc,

(3)

(4) Highlight the constitutional provisions

to bring about equality

While teaching History

(1) all important dates should be
remembered with the  Thelp of
mnemonics

(2) rise and fall of dynasties should be
marked clearly

(3) processes leading to events should be
analyzed in the light of reasons and
child's own experience

(4) a distinction should be there in political

and socio-cultural events
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79,

80.

i1.

(37)

Which of the following would be better 78,

suited to enable children to express their
views on public issues ?

%
@
@3)
@)

Scrapbook
Chart
Wall magazine

Flash Card

History text-books have a box ‘Elsewhere’” at |79.

the end of each chapter
(1)
(2)

to attract the attention of students

to make the chapter interesting to
students

to increase the general knowledge of
students

(3)

te relate contemporary developments
around the world with each other

(4)

80.
In History text-books many sources have
been given in each chapter

(1) to prove the creative talent of the

authors

to prove that more than one source are

(2)
© always better

(3) to justify the selection of topic

(4)

to encourage students to work on
sources and derive interpretation

: ; : 81.
British period official records cannot help in

writing objective History because

(1) events in these records are
mentioned in chronological order
they contain only
information

the British recorded their subjective
view and ignored the feclings of the
people

they were meant only for producing a
rosy picture of the British rule

not
[2] superficial
(3)

4)
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(4) ﬁm%amﬁmmmaﬁﬁ-w
% W9 SigT ¥ fau

Y A UE-YRH F IAE A F e

q ¥ few g |

(1) oE® 3 g g s s 3
fere

2 T ¥ Ifm dla g dew g @
e =+ & fau
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82.

83.

841

(38)

Cumulative record of Lhe evalualion in Social
Science should

have attendance and medical records of
the students

(1)

have a record of incidences of
indiscipline shown by students

(2)

(3) have a record of progressive
development of students’ interests,

aptitude and social adjusiments

have a record of students’ behaviour on
any specific day

(4

Which one of the following is against the
spirit of pedagogy of Social Science ?

(1) Making connections to students’ lives

(2) Aligning experiences to important
cutcomes

(3) Making students appear in as many
tests as possible

(4) Designing experiences that interest
students

In Clasg VIII a leacher starts the chapter
‘Local Self-Government’ by asking students
the names and responsibilities of Pradhan
and Sarpanch of their village and then
explains the importance of Panchayati Raj
System. Which of the teaching maxims is the
teacher following ?

(1) Proceed from abstract to concrete
(2) Proceed from simple to complex
(3) Proceed from indefinite to definite

(4)

Proceed from empirical to rational

B2l

83.

84.

s fawq § yemien ¥ wfew sfemd §
LRIy

feenfédil @1 sufeafq i fafee fee

(1)
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F
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49 ol F AfTEesa F S faenfiE
¥ wfa der

(3)

(4)

Fe1 VI F Ry faafial § 59 ma & e
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85.

86.

Introduction of  Comprehensive
Continuous Evaluation has made
evaluation system

(1) more reflective of the entire personality

~of a child

(2) complex by incorporating too many

details

(3) vague as exact rank of the student

cannot be found out

(4) more comprehensive to analyse
performance only
areas

in the scholastic

(39)

]J

and |85. FT N =T g W@ owwer 3
i =aaey] i

the

the

To teach ‘Multipurpose River-Valley Projects’ 86

which of the following would be best suited ?

(1) Discuss the harmful effects of dams on

ecology

(2) Take students on a field trip
(3)  Give students project on the topic

(4) Deliver a well prepared lecture

While preparing a lesson plan on the topic [87.

‘Resources’ what will be your first step ?

(1) Select teaching aids
(2) Frame objectives
(3) Go through the topic many times

(4) Prepare introductory questions

(1

(2)

(3)

(4)

T & WPl e e v g
A F 3

WO AF o @ owie w@ g
Sifeer s 2

SHE F9E § F®iifF frad ¥ fifvag i
W I A T g

A Vs 86§ fres W frvdn
A F fau st = wmod

Ag-3R¥T T AT F ven & fau
frfafaa 4 & waifus sfaq = & 2

(L

(2)

(3)

(4)

mﬁﬁuﬁﬁmﬁ%ﬂ%mwﬁaﬁ
= H

foanffal #t 85-ymor w § s
ST R faaf@@t &1 ofgem 2
TeAl-5 § AR =R i
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Remedial teaching cannot be donc for |88, 3I9aRe& fmwor faafidl w1 =&
students. fea s wehar |

(1) dyslexic (1) feafras

(2) gifted (2) fqqremer

(8) showing  lower  than average (3) sitgd ¥ %9 fasres w2f¥d & 9@

performance

4) T ¥ wfuw fawes w=fi| #9 a9

(4) showing above average performance

89. g fempr @
(1) teaching by observing minute behaviour (1) % ™ bl A

of students gy YaMI

‘Micro teaching’ is

{2) organized practice teaching (2) foEor-spaw AT HEAT

(3) micro managing the routine of students (3) fooem § foaf&di &1 feedl &1 ged
in the school T

4) teaching students i 1l ; & '
.() eaching students in small groups (4) gﬁg@‘[ﬁﬁaﬁﬁ‘[ﬁm

Learning processes in a Social Science g9, wfas fage wer-sa § 9@ & ufEmed A

classroom should ask students to farenfidi =)
(1) study text-books thoroughly and mark - T
important lines (D gw i q? é-%:' i{ﬁ%; $
(2) make notes on the discussions held in
the ¢l . .
e (2) &1 H B arell ==l W A" WH &
(3) attempt all the questions given in the feT <
SR (3) A § feu M oW gyl W s %
fee e =ifg

(4) reflect on the learning and on the

responses it requires of them ' ,
: : (4) HrEa it 39 el wfafewel w s
HEF T
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Candidates should answer questions
from the following Part only if they
have opted for ENGLISH as
LANGUAGE -1.

gl fr=fafaa wrm & yvi % s
el aft ¢ Afe IR AT — 1
faheq afiistt =1 & |

n
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PART IV
LANGUAGE 1
ENGLISH
Directions : Read the poem given below and answer |98.  Superman came and
the questions that follow (Q. No. 91 to 97) by
selecting the most appropriate option. (1) helped the mother
(2) did not help
T'was the night before Christmas, S it o
And all through the kitchen, G REEap e G e
My mother was cooking some delicious chicken, {4) burnt the house
All of the sudden,
The light bulb broke, 94. The word 'instant’ can replace which of these
And my mother randomly started to choke. words from the poem ?
In a flash, Superman came. (1) sudden
My brother thought his costume was lame.
) : . (2} randomly
And instead of rescuing the day,
He ate up my dinner, (3)  flew away
And he flew away ! (4) in a flash
Santa burnt the house with dynamite and {lares,
I guess I was on the naughty list, next year, 95, Santa refers to
T'll care !
(1) Santa Claus
91. To introduce the above poem the teacher (2) the servant
should {3} a crock
(1) read the poem aloud (4) a poor man
(2) discuss about Christmas and Santa |98, The speaker feels that Santa burnt the
Claus house because
(3) tell about Superman (1) he did not get any dinner
iy el absiie Bavits (2} the child had been naughty
(3) Superman went away without meeting
: him
92, The night before Christmas is also spoken of
s SR P (4) that is his job
(1) Christmas eve 97. Both Superman and Santa were doing
(1) what they always did
2) Chri i
B} Chmemig FEhy (2) things against their basic nature
(3) night before Christmas (3) all this to have fun
(4) night of Christ (4) these things because the boy had

troubled them



Directions
answer the questions that follow ( Q. No. 98 - 105) by
selecting the most appropriate oplion,

(43)

* Read the passage given below and

Heights of Abraham are cliffs. These
are one of the outstanding natural features of
the city of Quebec in Canada and were the
scene of a famous battle. Major General James
Wolfe (1727 - 59) was only thirty-lwo vears old
when commanded by the British Prime
minister, William Pit, to capture Quebec from
the French during the seven year war {1756 —
63). The capture of the city lying on the banks
of the St. Lawrence river in Eastern Canada,
would open the way for the overthrow of the

French forces in North America. For three
months in the summer of 1759, Wolfe
attempted to overcome the French by frontal
attack from across the river, but the defenders
held an almost impregnable position. Wolfe
decided to make an attack from the rear in the
early, dark hours of September 13. He held his
army across the river above the town and
surprised the French soldiers guarding the
small cove which now bears his name. Then
came the highly dangerous task of scaling the
cliffs — the Heights of Abraham. By sunrise
Wolfe and his army of 4000 had achieved their
goal and were on the Plains of Abraham drawn
up in battle array and ready to fight,

Before Wolfe’s audacious plan had been
carried to ils successful conclusion, both Wolfe
and the great French Commander, Montcalm,
lay dying in the battlefield. Knowing that
success was his, Wolfe whispered, ‘I die
contented.” On the other hand, when told that
he was fatally wounded, Montcalm cried out,
‘Thank God ! I shall not live to see the
surrender of Quebec.’ '

88,

99,

100.

101.

! 02'

]l
Heights of Abraham areo
of

an  outstanding natural festure

Quebec
cliffs scaled by Abraham

(1)

(2)
(3)
(4)

known for their French occupants

not near St. Lawrence river

Capturing Quebet would

(1) be easy

(2)  open the way for overthrowing the
French forces

(3)  be difficult

(4)  not be required

‘Frontal attack means

(1) being attacked from the front

(2)  attacking the enemy from the front
(3)  attacking the frontline
(4) attacking the frontier

Which part of speech is the word Yrontal’ ?

(1) Verb

(2)  Adverb

(3)  Adjective
(4)  Preposition

The opposite of the word ‘impregnable’ would
be

(1)  vulnerable
{2) undefeatable
(3) strong

(4) weak




P

103. The word lrum the text that means ‘reckless
and daring’ is

(1) frontal
{2) successful
{3} aundacious
(4} contented
104. Wolfe decided to attack from the rear
because
(1) Montcalm was not there
(2) the front was impregnable
(3) it was easy
(4) the cliffs were easy to climb
105. Spirit of patriotism was exhibited by
(1) William Pit
(2) Major General Wolfe
(3) French commander Montcalm
{4) Both Major General Wolfe and French

commander Montcalm
Directions : Answer the following questions by
selecting the most appropriate option.

106. Which of these is of primary importance for
creative writing 7

(1) Correct spellings of words
(2) Legible handwriting
(3) Presentation of ideas in an original way
(4) Command over grammar and
punctuation '
107. Conventions of writing include
(1) story ideas
(2) proper punctuation
(3) imagination

(4) good vocabulary

(44)

108. A teacher should help the learnors acquire
rich imagination and ability to think out of
the box to develop the learners’ skill of

(1) telling stories

(2) generating new ideas
(3) speaking well

(4) critical thinking

109. While asking the learners to read the toxt
silently the teacher should

(1)
(2)
(3)

get @ time limit
correct their written task

ask them to consult a dictivnary for
understanding difficult words

(4) ask the learners to write the summary

110. Lexical cohesion devices are

(1) words/phrases used for connecting ideas

" (2) vocabulary
(3) structures
(4) punctuation

111, According to NCF-2005 a teacher should

{1) help in enriching the learner’s
imagination

(2) develop a learner’s self-worth

{3) expose the learner to at least two
languages

(4) concentrate on making learners learn

the text thoroughly

112, When a teacher uses ‘Realia’ to teach

“ vocabulary and grammar she

(1) is using role play as a learning device

(2) is using real objects, actions and actual
life situations

(3) is using computer technology

(4) is teaching through true stories




(46) E

113. A multi-dimensional curriculum is one which

(1) caters to teaching of many subjects

(2) ensures an all-round development of
the learner

(8) spreads in various dimensions

(4) covers comprehensive conient arcas

114. To create and sustain interest in learning
(1) learners should not be labelled as slow,
average or high achievers
(2) learners should be told stories
(3) involve the students in activities
(4) make them teach each other
115. Which of the following descriptors can be
used for assessing the learners’ writing
skill ?
(1)  Their reading ability
(2) Their pronunciation and spelling
(3)  Organization of ideas
(4) Handwriting
L16. When a teacher asks the learners to judge

the actions of a character in a story they
have just read she expects them to

(1) understand facts as stated in the text
(2) evaluate

(3) read in between the lines

(4) go beyond the text

117. As a facilitator of learning the teachor
should

(1) aim at finishing the syllabus in time

load the learners with extra
information about the theme of the toxt

(2)

(3)

explain each lesson in detail
(4)  provide cnough opportunities to eX PUBe
the lcarners 1o hear and use the
language

118. During dramatization when a teacher uses
‘empathy’ as one of the descriptors for
assessing the Jearners, she is assessing their

ability to

(1) sympathize with the character

(2)  get into the skin of the character

(3) appreciate the character

(4) critically analyse the character

119. A good summative assessment should have

which of the following qualities ?

(1) Be reliable and without bias

(2) Test mainly structures

(3) Have very few grammar questions
{(4) Test the full year's syllabus

120. Poetry recitation helps learners to

(1)

learn proper intonation and stress
(2)  understand same sound words
(3) learn rhythm

learn rhymes

(4)
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Candidates should answer questions

from the following Part only if they

have opted for ENGLISH as |

LANGUAGE — 11
Thee frefafad 9 3 v % s
e qft ¢ AT IEE 9 — I o
fohed 3= < & |
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PART V
LANGUAGE 11
ENGLISH
Directions : Read the passage given below and

answer the questions that follow (§. No. 121 to 127)
by selecting the most appropriate option.

and thousands die when they are cayght
and shipped off to be sold as exotic pets.

Africa was once filled with an abundance
of wild animals, But that is changing fast. One
of these animals, the black rhinoceros, lives on
the plains of Africa. It has very poor eyesight
and a very bad temper ! Even though the black
rhino is powerful, and can be dangerous, its
strength can’t always help it to escape
hunters. Some people think that the rhino’s
horn has magical powers, and many hunters
kill rhinos for their valuable horns. This has
caused the black rhino to be placed on the
endangered species list,

The elephant seems to represent all that
is strong and wild in Africa. It once had no
natural enemies, but is now endangered —
killed for its ivory tusks. Wherever people are

The gianit panda of Asia is u faycinuling
and unique animal. Yet there are only about
1,000 still living in the wild, The giant panda’s
diet consists mainly of the bamboo plant, so
when the bamboo forests die, sv docs the
panda. China is now making an effort to
protect these special creatures from becoming
extinct. Unfortunately, it is people who cause
many of the problems that animuls face. We
alter and pollute their habitats. We huni them
for skins, tusks, ['urs', and horny, We destroy
animals that get in the way of furming or
building. And we remove them f{rom their
natural habitats and take them home as pets.

(extract from Gone Forever by Barbara
Reeves, internet)

careless about the land, there are endangered |121. To introduce this passage, which of these
species. activities would be suitable as a starter for
the above passage ?7

Grizzly bears like to wander great (1) Showing a small audio-visual clip on
distances. Each bear needs upto 1,500 square rhines, elephants, and il possible,
miles of territory to call its homeland. Today, pandas
because forests have been cleared to make (2) Showing of an audio-visual clip followed
rcom for people, the grizzly’s habitat is by a discussion
shrinking and the grizzly is disappearing. It (3) Showing pictures of the animals they
joins other endangered North American are going to read about
animals, such as the red wolf and the (4) Telling the students about the animals
American crocodile. they are going to read about

In South America; destruction of the rain [{22. The first paragraph has words like
forests threatens many animals. Unusual  abundance, magical, dangerous, valuable,

mammals, such as the howler monkey and the

therefore a teacher could aim to teach

three-toed sloth, are’ endangered. Beautiful (1) adjectives

birds like the great green macaw and the (2) nouns

golden parakeet are also becoming extinct. (3) conversion of nouns into adjectives
They're losing their homes in the rain forest, (4) spellings




123. Which of these can be used as an
a complex sentence ?

124,

25,

(63)

example of (127,

T)

Which  of these activitics  would  bo

meaninglully extrapolative ?

(1)  Africa was once filled within abundance (1) Yuan, the Panda meets Furry, a grizsly
of wild animals, bear from North America. They start
(2) Some people think that a rhino’s horng discussing about the problems faccd by
have magical powers, their families and friends, What do you
5 ] 5 ? 11
(3) Beautiful birds like the great green ;},n?k tht;}ttcll La;h nther.. ‘.;VnLL 4
macaw and the golden parakeet are 1a0gue between the two animals,
also becoming extinct, (2) Do a Project on the endangered species
(4) And we remove them from thejr of India.
natural habitats and take them home (3) Write a letler to your friend telling
as pets. him/her about how we bumans are
responsible for the dying out of wild
animals.
From the questions given here identify a (4)  Write a poster on the theme ‘Save our
global comprehension question based on the wildlife’, .
above passage.
: . Directions : Read the bassage given below and
(1) How does the rhino escape from : . e
; 2 . : answer the questions that follow (Q. No. 128 - 135)
hunters, in spite of the fact that it hag : ; .
: by selecting the most appropriate option.
a very poor eyesight ? o ] figd
: i : i ” S 4 nce upon a time, there lived a sparrow
(2) Why is the grizzly’s habitat shrinking ? in & {eo. Ha was very happy to have g
(3) Why have certain species of animals beautiful and comfortable nest of his own in
become endangered ? the tree. The sparrow used to fly to far off
places to pick at grains from so many fields,

(4)

Which of these questions Is not a valid
question ?

(1)

(2)
(3)

4)

A suitable title for the passage is

(1)
(2)
(3)
(4)

Which country is working towards
protecting pandas ?

Write a short note on the wild life of
Africa and Asia.

For what are the rhinos hunted ?

In South America the wild animals are
threatened by -

What has been the biggest cause for
certain animals becoming endangered ?

Endangered Species of The World
The Price of Progress

Man Vs. Animals

Wild Life’s Biggest Enemy — Man

full of crops. At the sunset he would return ip
his perch,

One day, the sparrow ate his fill, but
could not return to his nest, because of the
heavy rains which continued for the whole
night. The sparrow had to spend the whole
night in a big banyan tree, a little distance
away from home.

The next morning, when the rain stopped
and the sky became clear, the sparrow
returned to his tree. He was astonished to
find a rabbit occupying his beautiful and
comfortable nest,.

The sparrow lost his temper and spoke to
the rabbit, “It’s my home you're sitting in.
Please quit this place at once.”

“Don’t talk like fools,” replied the rabbit,
“Trees, rivers and lakes don’t belong to
anyone. Places like these are yours only so
long as you are living in. If someone else
occupies it in your absence, it belongs to the
neéw occupant. So go away and don’t disturb
me any more,”




128,

129,

(54)

But the sparrow was not satisfiod with
this illogical reply. He said, “Let's ask a
person of wisdom and only then our case will
be settled.”

At a distance from the tree, there lived a
wild cat. The cat, somehow, overheard the
discussion that took place between the
sparrow and the rabbit.

The cat immediately thought of a plan,
tovk a holy dip in the river, and then sat like a
priest and began chanting God’s name in a
loud tone. When the rabbit and the sparrow
heard the cat chanting God’s name, they
approached him with a hope to get impartial
justice and requested him to pass a judgement
in the matter.

The cat became very happy to have both
of them in front of him. He pretended to listen
to their arguments. But as soon as the right
opportunity came, the cat pounced upon both
of them and killed and ate them together with
great relish.

(from Panchtantra)

Presuming that this passage is given in one
of the middle school texts, what would be the
best way to introduce it to the learners ?

(1) Tell them that stories are of different
kinds and this one belongs to a genre

called ‘fables’

Ask the students
observation of cats

about their

(2)

{3) Ask the students to tell any story they
have heard or read about cats
(4) Ask the students to narrate a story

about cats and then tell them about
‘fables’

The above story can be used for teaching
(1)
(2)
(3)
(4)

grammar
about the sparrows, rabbits and cats
how the animals live in the forest

life skills and values

130'

131.

132.

183.

The best way to teach this story would be to

(1)  make the students read it sloud

(2) ask the students to read it silently
while you write some questions on the
board

(3) have the students dramatize it

(4) have the teacher read it and explain it

To make the learners use their skill to
evaluate, they should be asked to

(1)

make a presentation on what they have

read

(2) analyse the actions of the sparrow and
the rabbit

(3} have a group discussion to analyse the
character of the cat

(4) have a group discussion on ‘Quarrels do

not solve problems, they only aggravate
them’

The story can be divided into

(1) two parts — 1 -~ the fight: 2 — the

judgement

three parts — 1 - the beginning of the
problem; 2 — confrontation; 3 - end of
the problem

(2)

(3) four pafts — 1 — the sparrow hunting
for food; 2 — the rain; 3 - the rabbit;

4 — the cat

(4} no parts at all

This story

(1) uses animals to tell us about how
human beings behave

(2) is about sparrows and rabbits

(3) tells us about life in the forest

(4) tells us that cats are not friendly




134,

135.

Directions :
selecting the most appropriate option.

136.

87.

(4)

(5

The sparrow thinks the rabbit’s reply 1o be
illogical because

(1) she made the nest therefore it was hoers
(2)

(3} the rabbit had no right 10 enter her
nest

the rabbit was foolish

(4) -basically all rabbits are illogical
This story should

(1) be
(2)

read at home and discussed in clags

be used for motivating the students (o
read more tales from Panchtantra

(3) enable the teacher_tn relax while the

learners enjoy reading it

(4)  not be taught

Answer the following questions by

Which of these would be a wvalid ‘Learning
Objective’ for teaching a drama ?

(1) The learmers will be able to speak

fluently  with correct stress and
intonation

(2) The learners will be able to act
effectively

The learners will be able to understand

what is drama

(3)

The learners will have an opportunity
to dress up in different costumes

To identify and measure the learnery’
potential for his/her specific abilities and
skills such ag music, science, medicine, ete.
the schools

(1}  conduct proficiency test
2)
(3)

conduct aptitude tests

keep record of various activities the
learner was involved in

seek opinion of various teachers

(4)

5)

138,

139.

140,

141,

teaching the learner

11

One of the main objectives of Continuous
and Comprehensjve BEvaluation is

(n

to conduct more and more tesls in one
academic year

to test every asport of {he learnors’
development
de-emphasize memorization

to make sure the learners do not forget

what they have learnt

Language evaluation must aim at

(1)

(2)

(3}

(4)

assessing the achievement of  the
learner in terms of grades

assessing  the Jearner’s language
proficiency '

assessing the learner’s knowledge of the
rules of language

assessing the learner’s ability to learn a
new language

When language concepts are taught using
real life situations they are

(1)
(2)
(3)

(4)

easily understood and used
not learnt well

being taught naturally and so enable
the learners to use them easily

being taught in the same way as the
learner’s mother tongue

For story-mapping of a narrative text the
learners can be asked to

(1)

(2)

(3)
(4)

answer a question which has the story
in jumbled order

make a flow-chart depicting  the
sequence of the story

draw pictures of every sequence

draw a map of the locations mentioned
in the story
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142. The curriculum and the teacher’s execulion

143,

144.

145.

of it should help

(1) the learners to become thorough with
the curriculum
(2) enhance the learner’s self esteem

(3) the learners to get good grades

(4) the learners to
communicators

become  good

The skill of introducing the lesson

(1) depends on the ability of the teacher

{2) can be used only if the students are
receptive '

(3) makes the teaching — learning
environment congenial, creating

curiosity and motivating the students

(4) makes the lesson interesting

According to  NCF-2005 ‘across  the
curriculum approach’ for teaching English
means

(1)

using English as a medium of

instruction for all subjects

(2) breaking down  barriers  between

English and other subjects

(3) having a separate curriculum for
English which goes beyond the other

subjects

(4) treating English as one of the subjects

in the curriculum

Language evaluation should

(1) measure the learner’s ‘language
proficiency’
(2) not be tied to achievement in a

particular syllabi
(3)
(4)

use only written tests

be to identify the learner’s proficiency
to translate from his mother tongue
into English

146,

147,

148,

1489,

150.

Acquisition of vocabulary i
(1)
(2)
(3)

cramming more words
learning big words

learning words in totality and yiolding
the power to use them effectively

(4)

learning word families

For enabling her students to gain mastery
over English the teacher should
(1) regularly expose the learners to a
variety of language inputs
(2) constantly check the learners [or ull the

errors they make
(3) emphasize learning of grammar

(4)

stop use of their vernacular

‘Curriculum should enable the leurners to
think critically.’ This involves

(1) ability to learn information
(2) ability to find fault
(3) ability to carefully analyse and evaluate

information

(4) ability to think freely

Select the skill that is a component of
speaking skills

(1} Skill of speaking formally

(2) Reading fluently

(3) Production of correct English vowel and
consonant sounds

(4) Ability to listen carefully

Which -of the following is not taught as part
of vocabulary ?

(1) Homonyms
(2) Proverbs
{3) Prefixes

{4) Collocations
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READ CAREFULLY THE FOLLOWING INSTRUCTIONS :

Out of the four alternatives for each question, only
one circle for the correct answer is to be darkened
completely with Blue/Black DBall 1Pvint Pen on
Side-2 of the OMR Answer Sheel. The answer once
marked is not liable to be changed.

The candidates should ensure that the Answer
Sheet is not folded. Do not make any stray marks
on the Answer Sheet, Do nol write your Roll No,
anywhere else except in the specified space in the
Answer Sheet,

Handle the Test Booklet and Answer Sheet with
care, as under ne circumsiances (except for
discrepancy in Test Booklel. Code or Number and
Answer Sheet Code or Number), another set will
be provided.

The candidates will write the correct Test Booklet
Code and Number as given in the Test Booklet/
Answer Sheet in the Attendance Sheel.

Candidates are not allowed Lo carry any lextual
material, printed or written, bits of papers, pager,
mobile phene, electronic device or any other
material except the Admit Card inside the
examination hall/froom, .

Each candidate must show on demand his/ her
Admission Card to the Invigilator.

No candidale, withoul, special permission of the
Superintendent or Invigilator, should leave his/
her seat.

The candidates should not leave the Examination
Hall without handing over their Answer Sheet to
the Invigilator on duty and sign the Attendance
Sheet twice. Cases where a candidate has nol
signed the Attendance Sheet a second time will be
deemed not to have handed over the Answer Sheel
and dealt with as an unfair means case.

Use of Electronie/Manual  Calculator is
prohibited,

The candidates are gowrnrd by all Rules and
Regulations of the Board with regard to their
conduct in the Examination Hall. All cases of
unfair means will be dealt with as per Rules and
Regulations of the Board.

No part of the Test Booklet and Answer Sheel
shall be detached under any circumstances.

On completion of the tesi, the candidate
‘must hand over the Answer Sheet to the
Invigilator in the Room/Hall. The
candidates are allowed to take away this Test
Booklet with them.
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